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[LCAO (linear conbination of atomic orbital) MO7%]
op(n) = cp1x1(n) + c,ox9(n) (35-1)
x ;(n) : nEBOHFEEIRMA R OITRITNT [FHOIRTO BRI
ho(n) = ¢ ¢(n) (35-2)

A 1B TF(1IEOEFIZHOVTO)Hamiltonian

fo(n)hoéd(n)drx
= (35-3)
f(¢(n))2dc

DR ATE & A tEoMO]

(+)

(+)

il MEBIAR

n FREA (AT

o , O'>l<
w , TC*
5, § *

7697



[ RT3 DOMO]

N o <ols>2<01;’<>2<025>2<02§>2<n2py>2<n2pz>2<ozp>2 (35-4)

NP <ols>2<01§k>2<025>2<02§>2<n2py>2<n2pz>2<ozp>1 (35-5)
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(35:6)
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$1 = 5 x2s T 5 x2p, (35-7)
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o = — 4 — X —+ — X (358)

2 2 2's o3 2py 3 2p,
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¢33 = 5 X925 T T — X 2 + — x99 - —F—x29 (35-9)
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b4 = 5 X2s T T —X2p, = X2p, T = X2p (35-10)
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1 \/3 2's 3 2py

b9 = 1 %23——1 X2py T X2p (35-12)
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$3 = X92s T T—=%x2 - —F—x2 (35-13)
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1 = ! X254‘—L—X2p (35-14)
V2 2 s
1 1

b2 = Xos = /= X2 (35-15)
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